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SANT NIRANKARI PUBLIC
SCHOOL

AVTAR ENCLAVE

Class - VI

Summer Holidays Homework
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Maths

1. Make a pie chart showing how much water we use in household.
2. Make a beautifu! chart on whole numbers and its properties.
3. Do sample paper in separate notebook.

English

1. Write a poem or prose on importance of water.

2. Write 6 ways or to conserve water. Also make a careful poster for the
same.

3. Do sample paper in separate notebook.

Hindi
1. FAfAr ShaeT SR §1 376 YGWOT gl il =MeT |’ 39 faur
ford|
2. ‘STl g Sfiael " fas 9 weh g fare S|
3. d9ef 99X 37T il F S|

1. Make a model of rainwater harvesting.

2. Prepare a project reporton:

i. Different sources of water along with importance of water.
ii. Importance of rainwater harvesting system.

iii. Which measures can you take to save water as a small student.
3. Do sample paper in separate notebook.

Social science

1. Earth is a blue planet which makes life possible — write a paragraph on it.(A-4
size sheet)

2. Mark different oceans and their location on World Map.

3. Do sample paper in separate notebook.

Sanskrit
1. 'mﬁmﬁ'mmﬂaﬁﬁgwﬁﬂaﬁmﬁa?ﬁ?
A HEFd H 37 A faf@ul 8 -78), arens 3nfe)
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2. 9Tell 913 WX A0 oi@d ferd@r|
3 d9er 99T 3reEr Hiar H H
G.k

Paste the pictures and write their names -Famous monuments /tourist places
of Lakshadweep Andaman and Nicobar Islands on A4 sheet.
Computer

1. Make a poster on used of internet on A4 Sheet.
2. Make a table in MS word & fill following entries:

Bt_:l_“- No. | Name j_Da‘_te of Birth | Phone No. Place

001 Manas | 12/09/1987 |12578565 | Delhi

002 Rahul | 09/05/1986 12365789 u.pP
003 Ryansh | 02/05/1990 788545656 | Haryana

a) Text colour as black
b) Font (Times New Roman) size-14
c) Background colour as Blue

Health and Physical Education

Basketball, Handball, Volleyball, Badminton, Kho-kho, Hockey, Football, Cricket,
Judo, Kabaddi, Skating,

Swimming, Table Tennis, Taekwondo, Lawn Tennis.

Choose any one game wr bite about

¢ History

e Latest rules and regulations

sField measurements and specifications of equipment

eFundamental

Art & Craft

1. Make one wind chime.
2. Prepare 4 Eco bricks with 1.5 litre bottle.
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Subject S.S.T
Class = VI
Sample Paper
M.M. 60
Q.1 Choose the correct option from the following: (1X8=8)
i. People who study excavated objects are knownas

a. Cartographers b. Historians
c. Archaeologists c. None of them

ii. Basalt was used to make

a.Tools b. Caves

c. Megaliths d. All of them

iii. was a burial site in ancient India.

a. Bhimbetka c. Mehrgarh

c. Mismagiri d. Selbagiri

iv. The planet which is known as the Morning and Evening star is
a. Mercury b. Venus

c. Mars d. Saturn

v. The smallest planet in the solar system is
a. Saturn b. Mars

c. Mercury d. Uranus

vi. A dotted line is a conventional sign of a

a. Footpath b. metalled track
c. Cart track d. Well

vii. The total number of meridians on the globe is

a.66%°S b.23 % °N
c.90°N d.66%° N
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viii. Every region in India celebrates its festival in its own style .
a. Regional b. State

c. Zonal d. cultural

Ques 2. Answer the following questions in one word . (1X6=6)

i. Who wrote Meghadootam?

ii. Which metal was first discovered by early humans?
iii.Which Planet is the farthest from the Sun ?

iv. What we called a person who makes maps?
v. Which is the longest latitude ?
vi. Write the name of book written by Jawaharlal Nehru .

Ques3. Fill in the blanks . (1X6=6)
i The phrase best represents the Indian society .
ii. is a yellowish Planet with rings .
iii.  Trees can be shown on a map by
iv. Before paper ,books were written on leaves .
V. The vedas and purana are considered texts .

vi.  The site of Mehrgarh was discovered by

Ques4.Match the following . (1X6=6)
i. Indica a. Egypt

ii.Bhimbetka b. Collection of maps

iii. Nile valley c. Rough drawing of area
iv. Attas d. Hot

v. Sketch e. Machya Pradesh

vi. Torrid means f. Megasthenes

Ques5.Look at the following pictures and answer the questions:

(1X2=2)

i. Identify the given picture

Scanned with CamScanner



a. Butterfly

c. Ant d. Honey bee

ii.Identify the given picture

Quesb.Read the case study given below and answer the following questions.
(4X2=8)

A. Mehrgarh in Pakistan is one of the earliest sites of the Neolithic culture .It
dates between 7000 and 5500 BCE. The site was discovered by a French team
led by jean Francois jarriage. The site shows evidence of cultivation of wheat
and barley and domestication of cattle , sheep and goats . People lived in mud
brick houses and had granaries to store crops . Tools made from animals
bones were very much in use. The earliest ground stone axe was found here .
Ornaments of sea shells , beads , limestone ,turquoise ,lapis lazuli ,sandstone
and polished copper have been found ,along with simple figurines of women
and animals.

i. Where Mehrgarh is situated?
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a. Afghanistan b. Bhutan

c. Pakistan d.lran

ii .Who discovered the site of mehrgarh ?

a .Dayaram Sahini b .Rakhaldas Banerji
b. Jeans Francois Jarrige d. Romila Thapar

iii. Where people store crops ?

a. Granaries b. Godown

c. Store room d. Underground

iv. Burial sites were marked with huge blocks of stone called

a. Basalt b.Megaliths

c. Caves d.Tools

B. Earth is the third planet from the Sun. It has only one natural Satellite
called Moon. Earth takes nearly 24 hours (23 hours 56 minutes and 4
seconds ) to complete one rotation. It revolves around the Sun

in about 365 days and 6 hours. Earth is the only planet of the solar

system ,which is known to support plant and animal life.

i. Earth is the planet from the Sun .
a. First b. second
c. Third d. Fourth

ii. Earth has which natural Satellite ?
a. Mercury b. Venus

c. Moon d. Neptune

iii. How much time Earth takes to complete one rotation ?
a.24 houys b.12 hours

c.18 hours d.36hours
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iv. Which planet in the Solar system support plant and animal life ?
a. Venus b .Earth

c. Mars d. Uranus

SECTION-B
Ques 7 Answer each of the following questions in 30-40 words .  (2X4=8)

i Mention two major changes in the life of early humans during the
Neolithic Age.

Or
Why is it important to date events  history?
ii. How are the Planets different from stars ?
Or

Explain why Mars is called the ‘Red planet’?
ii. Define:
a. Cardinal points

iv. What does diversity mean?

Ques8.Answer each of the following questions in 40-60 words .
(3X2=6)

i. Name the important Latitudes .
Or
What are latitudes

ii. What are the differences and inequalities among people in today’s world?
Or

How are villages and towns interdependence ?

Ques 9. Answer the following questions in detail.

a. Which Planet rotates the fastest? (1)

b. Which planet is farthest from the Sun? (1)
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c. What is a Constellation ? (2)

ii. Why do people travel to different regions in the past?
Or

State some instances of diversity in our country ? (4)

Ques 10. Mark four important Neolithic sites on a map of India . (0.5X4=2)

i. Mehrgarh

ii. Burzahom

iii. Chirand

iv. Daojali hading
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SANT NIRANKARI PUBLIC SCHOOL
SAMPLE PAPER
CLASS — VI ENGLISH

Time 2:30 Hours M.M 60
The question paper contains THREE sections:

Section A READING - 10 MARKS

SectionB WRITING & GRAMMAR - 30 MARKS

Section C  LITERATURE - 20 MARKS

General Instructions:
e The question paper contains three sections: Reading Skills, Writing Skills & Grammar and Literature.
e All questions are compulsory.
e Separate instructions are given with each section and question, wherever necessary. Read these
instructions very carefully and follow themn.
e Do not exceed the prescribed word limit while answering the questions.
SECTION A (READING SKILLS: 10 MARKS)

Q1. Read the passage given below:

Once there was a miser who sold all his possessions and, with the money, bought a great lump of gold, dug
a deep hole at the edge of the garden, and there he buried his gold. Once a day, thereafter, the miser went
to the garden, dug up his gold, and embraced it lovingly. One of the miser’s workmen wondered why his
master spent so much time in the garden. One day, he hid behind a tree and soon discovered the secret of
the hidden treasure. That night, when the miser was fast asleep, the workman crept into the garden and
stole the lump of gold. When the miser found that his gold was gone, he tore his hair and cried aloud in his
despair. A neighbour came running to see what the matter was, and the grief-stricken miser told him what
had happened. Then the neighbours said, “Pray to stop your weeping. Go and find a stone. Place the stone
in the hole and imagine that it is your lump of gold. The stone will serve your purpose, for you never meant

to use the gold anyway.” “To a miser, what he has is of no more use than what he has not.”

On the basis of your reading of the given passage, answer the following questions. (1x10=10 marks)
(i) How did the miser get the lump of gold?

(a) By selling all he had (b) While digging the garden

(c) From his ancestors (d) From his neighbour
(ii) Why did miser spend so much time in the garden?

(a) He was a nature lover. (b) He liked watching children playing in the garden.

(c) To keep an eye on his hidden treasure. (d) To change the place of his lump of gold.
(iii) By whom was the gold stolen?

(2) A thief (b) His neighbour  (c) The miser’s workman  (d) The miser himself

(iv) The neighbour advised the miser to put a stone in the hole because ____.
(a) Gold is like a stone only.
{b) The miser would never use the gold, hence no difference between the two.
(c) The stone will become gold after some time.
(d) For a wise man, gold and stone have equal worth.
(v) Choose the most appropriate title for this story.
(a) Gold and Stone
(b) The Miser and His Gold
(c) The Miser and His Neighbour
(d) The Miser and His workman
(vi) What did the neighbour say?
(vii) What did the miser buy?
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(vii) Why did the miser cry?
(ix) Find out the synonym of ‘hugged’ from the above passage.
(x) Find out the antonym of ‘hope’ from the above passage.

SECTION B (WRITING AND GRAMMAR: 30 MARKS)
Q2. Attempt any one of the following questions. (6 marks)
(i) Write a letter to your friend asking him to spend summer vacations with you.
(i) Write a letter to your father asking money for your schoal trip.
Q3. Attempt any one of the following questions. (4 marks)
(i) You are Srikanth Verma, a student of class 6th C of Blooming Dale Public School, Pune.
You lost your English textbook in the school premises. Giving details of the book, draft a notice
(in about 50 words) to be put on the school notice board. announce a suitable reward for the
finder. Put the notice in a box.
(ii) You are Aman Gupta, President of Adventure Club of your school. Write a notice in about
50 words, informing students of an adventure trip to Shimla. Put in the necessary details.
Q4. Identify what type each of these sentences belongs to. (Declarative/ Interrogative/  (1x5=5 marks)
Imperative/Exclamatory)
{i) What a beautiful day!
(ii) Do you like chocolate?
(iii) The cake is in the oven.
{iv) The train leaves at 6:30 AM.
(v) Wash your hands before dinner.

Q5. Fill in the blanks with appropriate pronouns. (1x5=5 marks)
(i) Murat is a good boy. He always listens to ___teacher.
(i) Can ____ help me carry these boxes to the car?
(iii) Milly and | are very good friends. ____ have known each other since childhood.
(iv) The mangoes are very sour. Where did you buy ___ ?
(v) The Smiths invited _____ over for dinner last night.
Q6. Circle the subjects and underline the predicate in the following sentences. (1x3=3 marks)

(i) The bright blue butterfly landed on the flower.
(ii) The team celebrated their victory.
(iii) John and Lisa decided to go to the beach.

Q7. Write your own subject and predicate for these sentence fragments. (1x3=3 marks)
(i) ........ bought myself a pair of glittery shoes.
(i1) OUT COUNETY .o e e
(iii} <c.esveeeseeneen IS @D attractive tourist destination.

Q8. Transform the following affirmative sentences into negative sentences. (1x4=4 marks)

(i) I like watching movies.

(ii) They finished the project.

(iii) Leela works at pharmacy.

(iv) Seema has finished her work.

SECTION C (LITERATURE: 20 MARKS)

Q9. Fill in the blanks. (1x5=5 marks)
The poem ‘Trees’ is about the effects of changing .............. on trees. It is also about the
Relationship between .............. and ................ . Each season has a different effect on plants.
When the ........... winter falls on trees, it withers the buds. Once the buds are shrunk, the
Flowers will not ................ .
Q10. Complete the following sentences. {1x5=5 marks)

(i) The baby squirrel was annoyed at Mr. Mocking bird because ...
{ii) Mr. Mocking bird won the competition because......coceiem imecee et et
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(iii) The dervish broke his jar because... ns s Ercas oms i’
(iv) The lesson that the wife shared W|th her husband was..
(v) The dervish’s hope of a better future crashed because
Q11. Answer any 2 of the following questions in 30-40 words. (2x2=4 marks)
(i) What hope did the man have for his son who was yet to be born?
(ii) What was the consequence of Mr. Mocking bird’s ability to repeat every song?
(iii) Why did woodchuck first think that the baby squirrel wanted his food?
Q12. Answer the following questions in 40-50 words. (3x2=6 marks)
(i) How did the action of the mocking bird secure peace in the jungle?
(ii) Why was the woman upset about her husband’s predictions for the future?
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Sant Nirankari Public School

Avtar Enclave

Class - VI
(Maths)
Sample Paper
M.M.: 60
Section -A (1X26=26 marks)

1Fillin the blank:
(i) 11akh = ....... Ten thousand
(i) 1 lakh = ..... Thousand

(iii) 1 lakh is predecessor of

(iv) 1lakh = ....... ten
(v)1crore = .. ten lakh
(vi) 1 crore = ....... lakh

(vii) Successor of 100900___ __ _ _
(viii) 1 crore = ....... thousand

(ix) Smallest whole numberis __
(x)1crore = ........Ten
(Xi).7x109=____
2.: Write true and which are false:

(i) The sum of two odd numbers is an odd number.
(i) The sum of two odd numbers is an even number.
(iii) The sum of two even numbers is an even number.

(iv) The sum of two even numbers is an odd number.

(v) The sum of an even number and an odd number is an odd numbers
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3. Fillin the blanks to make each of the following a true statement:
(i) 359 + 476 = 476 + ....

(i) ... + 1952 = 1952 + 2008

(i) 90758 + 0 = ...

(iv) 54321 + (489 + 699) = 489 + (54321 + ...

(v) 10 x 100 x ... = 10000

(vi)27 x18=27x9+27x .. +27 x5

(vii)12x45=12x50 -12 % ...

(viii) 78 x89=78x100-78 % ...+ 78 x 5

(ix) 66 x 85 =66 x 90 — 66 x ... — 66

(x) 49 x 66 + 49 x 34 = 49 X (w +...)

Section B (2X6=12 marks)

4.. Insert commas in the correct positions to separate periods and write the following

numbers in words:

(i) 4375 (ii) 24798

5.Determine the sum by suitable rearrangements:
(i) 15409 + 178 + 591 + 322

6. How many different 3-digit numbers can be formed by using the digits 0, 2, 5
without repeating any digit in the number?

7.Rohit deposited Rs 125000 in his savings bank account. Later he withdrew
Rs 35425 from it. How much money was left in his account?

8. Write the following numbers in words in the Indian system of numeration:
(i) 42,007. (ii) 4,05,045

9. What are prime numbers? List all primes between 1 and 30.
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Section-C (3X4=12 marks)
10. Find the common factors of:
() 5,15 and 25
(i) 2,6 and 8

11. . Find the difference between the largest number of 4 digits and the smallest

number of 7 digits.

12.The population of a town is 962089. If the number of men is 29642 and
that of women is 29167, determine the number of children.

13. Add each of the following and check by reversing the order of addends:
(i) 5628 + 39784

(i) 923584 + 178

Section D (Case study). (2X5=10 marks)

14.. In each one of the following pairs of numbers given below,
a state in which the whole number is on the left of another
number on the number line. Also, write them with the suitable
sign (>, <) between them.

(a) 530 and 503

(b) 370 and 307

(c) 98765 and 56789

(d) 9830415 and 10023001
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15. The sale of electric bulbs on different days of a week is shown below

Days Number of bulbs
e T
Tesdy | WGCLOLELE
Wednesday {;(;Q:(‘_;:. D
sty | © G @€

¥ ¥ vy ¥ ¥

Friclay (li (J._ (r_ (!_.’ (1_' (‘.'_ (.

~ ¥V F FF W

Saturday

4N =
D g

Sunday

¥y F ¥V F F ¥

Observe the pictograph and answer the following questions:
(i) How many bulbs were sold on Friday?
(i) on which day maximum number of bulbs were sold?

(i) If one bulb was sold at the rate of Rs 10, what was the total earning on
Sunday?

(iv) can you find out the total earning of the week?

(v) If one big carton can hold 9 bulbs. How many cartons were needed in
the given week, more than 7, more than 8 or more than 9
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SANT NIRANKARI PUBLIC SCHOOL
AVTAR ENCLAVE, PASCHIM VIHAR
SAMPLE PAPER (2024-25)
SUBJECT- SCIENCE
CLASS - VI
TIME: 2 Hr. 30min. M.M.-60

GENERAL INSTRUCTIONS:
e Read the questions carefully.
Attempt all questioms.
The paper is divided into three sections A and B.
Section A carries 36 marks and section B carries 24 marks.
All the sections are compulsory.
Write all the answers on the answer sheet.

SECTION - A [1 X 24 = 24 marks]
1. Choose the correct solution.
i. Which of the following is not a stem vegetable?
(a) Ginger (b) Wheat (c) Potato (d) Onion

ii. Find the odd one out among the following living things which form a food chain.
(a) Mouse (b) Snake (c) rabbit (d) Eagle

iii. Which of the following animals is a parasite?
(a) Wolf (b) Hyena (c) Mosquito (d) Lion

iv. Which of the following is a carnivorous animal?
(a) cow (b) Horse (c) camel (d) Tiger

v. Which of the following is not obtained from planis or animals?
(a) Salt (b) milk (c) Wheat (d) Honey

vi. Which of the following eat the flesh of dead animals?
(a) Scavengers (b) Herbivores (c) Parasites (d) Carnivores

vii. Which of the following nutrients is the storehouse of energy?
(a) Protein (b) Fat (c) Sugar (d) Starch

viii. Deficiency of which nutrient causes stunted growth, swelling and discoloration of the face?
(a) carbohydrates (b) vitamin (c) mineral (d) protein

ix. Rickets is a disease caused in children due to deficiency of vitamin
(@) A (b)B (©C (dD
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X. Which of the following is required for healthy teeth?

(a) Calcium (b) iron (c) iodine (d) vitamin C

xi. lodine is used to test the presence of
(a) Starch (b) fats (c) vitamin (d) Protein

xii. Which of the following is a water- soluble vitamin?

(a) Vitamin A (b) Vitamin B (c) Vitamin D (d) Vitamin K

xiii. Cotton is obtained from

(a) Leaves (b) stems (c) Seed pods. (d) Roots

xiv. Sericulture is rearing of

(a) Sheep (b) Honeybees.  (c) Silkworm (d) Fish
xv. Which of the following is not a man made fibre?

(a) Jute (b) Rayon. (c) Polyester (d) Nylon
xvi. Silkworms are fed on leaves of

(a) Ashok (b) Pine (c) Mulberry (d) Dhak
xvii. Roll games formed to the body as air in wool does not allow passage of

(a) heat (b) Water (c) sound (d) None of these
xviii. Which of the following is a man made fibre

(a) cotton (b) jute. (c) polyster (d) Silk
xix. The motion of a ball rolling on the ground is an example of

(a) Periodic motion (b) Rectilinear motion

(c) Rectilinear and rotational motion (d) Circular motion

xx. There is no change in the direction of movement of a body in
(a) Curvilinear motion (b) rotational motion (c) periodic motion (d) rectilinear motion

xxi. A curvilinear distance can be measured by a
(a) Meter scale (b) Cubit (c) thread (d) Compass
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xxii. The standard unit of time in S| system is

(a) Hour (b) Minute (c) Second (d) year
xxiii. Which of the following is a rectilinear motion?
(a) Rotation of the earth (b) A spinning top
(c) A boy sliding down a slope (d) A merry- go-round
xxiv. 1 mis equal to
(a) 10 cm (b) 100cm (c) 1000 cm (d) 0.1 cm
2. Fill in the blanks. [1 X 6 = 6 marks]

i. shows how one organism is dependent upon another organism for survival.
ii. The things with which we prepare food are known as

iii. Plants are called :

iv. There are essential vitamins

v. The condition of gradually gaining weight and become a obese is called

vi. Anaemia is caused due to deficiency of

3. Answer in one word. [1 X 6 = 6 marks]
i. What is the process of arranging two sets of yarn to make a fabric called?
ii. What is the course fibre obtained from the husk of coconut?
iii. Silk was first developed in which country?
iv. Who created the metric system?
v. Who introduced the steam engine?
vi. What is the comparison of an unknown quantity with some known quantity called?

SECTION-B [2 X 6 = 12 marks]

4. Answer the following questions.

i. How do mosquitoes get their food?

ii. Which nutrient groups are called protective groups? What are the necessary for?

iii. What is the difference between fabric and yarn?

iv. What is translatory motion?

v. Which nutrient group helps in growth of the body and repair of cells.?

vi. Which measuring instrument will you use to measure your height?

5. Answer the following questions. [3 X 4 =12 marks]
i. Write the differences between herbivores, carnivores and omnivores.
ii. Why are vitamins necessary for our body? List the diseases caused by deficiency of vitamins?
iii. How is jute fibre extracied from its plant?
iv. What precautions will you take when measuring the length of a pencil with a scale?
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